
  
  
  
  
  
  

 
 
 
 

  
  


	د��: أو� ���

�� 7( :أ(  
1( ��� �� 	
 )ن 3( :�� وا�

6354,1 + 999,44 = 7353,54 ; 564 – 388,18 = 175,82 ; 53,2 × 8,3 = 441,56 

 )ن 1( . �115-  851  &�(�د  0,01 إ&-ا&,�رج ا&()#ي ا&%$#ب أو �  )2

  10,54: 9�7#اط       10,53 :4�#567  
  

  )ن 1( .14و 21 ا&$@ا?< ا&%)6#آ> 7;:و � أ )3

  .7و 1

1(  �B;C#C DCر��ا�	C� <;&�6&اد ا�1Eا :)ن 2( 

3,03   <  3,033  <    3,3  <  3,303  < 3,33 <  30,3 
��
��
�� 4( :أ
��� ا����س: (  

  :حول إلى الوحدة المطلوبة )2
65,89 dam  = 0,6589km 

 51,75 dm               = 5175mm 

50,67 m2  842 dm2 = 0,005909 hm2 
106 hm 2 19,7 m2  = 10600,197dam2 

  
�#��� :��$%&: )3 ��
(  

3( -  :%M11  ة�O10500 DH                       15×700= )1 ن( 
- <;&	P%&ا&�@ازم ا :%M     10500÷3=3500 DH                              )1 ن(  
  - �$B6%&ا T�B%&7000                                          ا DH= 3500-0500         )1 ن(  


�� 6( :أ
��� ا�/.	-�: را+*�( 
  .B = 60°وقياس  A = 50°بحيث قياس  ABC أنشئ مثلثا  )4

  )ن 2(                                      ر?< ا&)YZ  -أ  
  )ن c         90  =  (60+50)-180        )1\;�س ا&	او�> -ب

 )ن 1(ر?< ا&�ا^#ة                                                                                   -أ )5
  )ن 1(                                                              ر?< ا&%_6$;%;: ا&6%(����:  
 )ن B`0+1&                                          )1;(> ا&)YZ   -ب  

 

�� ا��4533 ا�123+
  وزارة ا�19+�� ا�8:.�� وا�7�849 ا�3/.6

 ا?آ�د�3�� ا�=/��8 �195+�� وا�7�849
  A�8ان -�=/� :.=� 

��+� وزان
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